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SUBSTITUTION NO CALCULATOR n1E1
SINGLE VARIABLE Ref: G212.
Al Ifn=6 A2 Ifn=6 A3 Ifn=6 Ad Ifn=6
Find the value of Find the value of Find the value of Find the value of
2n’ (2n)’ (2+n) (2n*)’
Bl Ifn=5 B2 Ifn=4 B3 Ifn=3 B4 Ifn=7
Find the value of Find the value of Find the value of Find the value of
Int—5 (n): +4 3(n+5)° -4 2(n-3)"+n
Cl Ifn=14 C2 Ifn=>5 C3 Ifn=6 C4 Ifn=11
Find the value of Find the value of Find the value of Find the value of
.5 J(n+3)(n-3) J(n+3)(n-2) n—2
n+5
D1 Ifn=5 D2 Ifn=4 D3 Ifn=6 D4 Ifn=17

Find the value of

Find the value of

Find the value of

Find the value of

1 I n+2 1 n+l n-1 n-2Y [n+9
+ - - +
n+l n-1 n n—1 3 4 2 9
El Ifn=6 E2 Ifn=4 E3 Ifn=3 E4 Ifn=2
Find the value of Find the value of Find the value of Find the value of
3n* —11n—(7—n) 21 +3(n+1)? S(n+1)*+2n’ = (n-3)’ 4n* +(4n)? +4(4n*)’
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SUBSTITUTION NO CALCULATOR : 1 E1
SINGLE VARIABLE Ref: G212.
Al Ifn=6 A2 Ifn=6 A3 Ifn=6 Ad Ifn=6
Find the value of Find the value of Find the value of Find the value of
2n’ (2n)’ (2+n)’ @2n’)’
2x6%2=72 (2 x 6)* = 14K (8)* = 6l (2x 6% =(72) G184
Bl Ifn=5 B2 Ifn=4 B3 Ifn=3 B4 Ifn=7
Find the value of Find the value of Find the value of Find the value of
3n’ -5 (3n)> +4 3(n+5) -4 2n-3)+n
3x5°-5=70 (3xW)? + 14 = 118 3 (8)* -l = 188 2x () +7=39
Cl Ifn=14 C2 Ifn=5 C3 Ifn=6 C4 Ifn=11

Find the value of

Find the value of

J(n+3)(n-3)

Find the value of

J(n+3)(n-2)

Find the value of

n—>5 fn—2
Jii-5=+9 =8 g8x2 =416 ==U Joxl =36 =16 n+S
D1 Ifn=5 D2 Ifn=4 D3 Ifn=6 D4 Ifn=7
Find the value of Find the value of Find the value of Find the value of
1 % 1 2+1 n+’2+ 1 i+1:£ n+1+n—1 Z+§:Uf_5 7-2 . 7+9 _91
n+l n-1 6 U n° n-1 16 3 24 3 4 3 U e 2 9
El Ifn=6 E2 Ifn=4 E3 Ifn=3 E4 Ifn=2
Find the value of Find the value of Find the value of Find the value of
3n* —11n—(7—n) 21 +3(n+1)? S(n+1)*+2n’ = (n-3)’ 4n* +(4n)? +4(4n*)’

3x6*—66—(1)=W1

2x W2 +3x(5)% =107

5x (H)?* +2x3°—(0)* =134

b x 2%+ (8)* + U x (16)* =110H
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